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NONE GREATER THAN ABOUT 300 nm will cause emission.

8-27) (In Electron Volts)
a.
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As temperatures decreases, the equi-partition theorem becomes less and less accurate.

8-31)


Answer for 8-30) 5.48
[image: image12.emf]Heat Capacity Versus Time

0

1

2

3

4

5

6

7

8

0 200 400 600 800 1000

Temperature

Heat Capacity

Au

Diamond

Al

Be



[image: image13.wmf]600

1150

210

175

=

=

=

=

-

-

-

-

Be

E

Diamond

E

Al

E

Au

E

T

T

T

T



4-5)



[image: image14.wmf](

)

nm

nm

nm

m

m

m

n

m

mn

2743

8

1

5

1

10

096

.

1

1

4657

7

1

5

1

10

096

.

1

1

7465

6

1

5

1

10

096

.

1

1

5

1

1

1

10

096

.

1

1

7000

1

1

10

096

.

1

1

2

2

2

2

2

2

2

2

2

2

2

7

2

2

2

=

÷

ø

ö

ç

è

æ

-

×

=

÷

ø

ö

ç

è

æ

-

×

=

÷

ø

ö

ç

è

æ

-

×

»

®

÷

÷

ø

ö

ç

ç

è

æ

+

-

×

»

÷

ø

ö

ç

è

æ

-

×

=

-

-

-

-

l



4103 nm Appears To Be the Oddball
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None in visible spectrum.
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